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=> 3=5
ans =

>> 3«7
ans =
1
> a=[1 2;3 4]

1 2
3 4
=> b=[1 3;5 Z]

>> alb
ans =
1 1
1 1
>> a~=b
ans =
0 1
1 1

>> (a=2) | (b<3)
ans =

1 0

1 1
>> (a>Z2) & (b<3)
ans =

>> a

a =
1
3

>> b

h =
1
5

>> a(a=0)

ans =
1
3
2
4
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> (243)72-1*2 >> 1&0 >> (1]10) &0
ans = ans = ans =
23 0 0
>> 1|0 >> 1] (0&0)
ans = ans =
1 1
>> 1|0&0

dallsS =

1
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X1=(B-2n0.5)/2A | Yes
X2=(B+An0.5)/2A




X1=(B-A"0.5)/2A
X2=(B+AN0.5)/2A

Start
A,B,C

A=B"2-4AC

<?>

é

X1=B/2A
X2=B/2A

:if-else-end b %
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f No root ;




:if-else-end b %

— -

If () b )
1l.:.l|_;_5..'-'..w.'t

Elseif (Y b,x)

P Olygiws
Elseif (¥ b,x)

¥ Ol ygiws
Else
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End
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Syntax
if expressicon
statements
elseif expression
statements

=2lze
statements

end




A=B"2-4AC

Yes

A<0

No

X1=(B-An0.5)/2A | Yes
X2=(B+AN0.5)/2A

No

X1=B/2A

) JLo

/ No root /

X2=B/2A
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Ax’? +Bx+C=0

15 A,B,C ul o (S) g lod (pni 1
(a2 pulod ) L ady ) g aid s




: ) JLo

. e = —
1 function delta( A,B,C )
2| — D=B"2-4*A*C; >> delta(l,2,1)

3 — if (D<0) ] =

4 — disp ('No Root') 1

B elselif (D==0) <2 =

6 — x1=-B/ (2*R)

7= x2=-B/ (2*R) -1

a— | else >> delta(1,12,-23)
9 — x1=(-B-sqrt (D)) / (2*A) X1 =

10 — x2=(-B+sqrt (D)) / (2*R) -13.6811

11 — end X2 =

= ____end 1.6811

>>» delta(l, 2, 3)
No Root
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1 function ghaem(&,B,C) Command Window
2 tlag=0; >> ghaem(3,4,5)
3 1f (A~2==B"2+4C"2)
Yes
4 flag=1;
| >=> ghaem(l,2,4)
5 elselif (B"2==A"2+C"2)
6 flag=1; NO
7 elseif (CA2==A~2+B~2) >> ghaem (23,43, 34)
8 flag=1; NO
9 end
10 if (flag==1)
11 disp ('Yes'")
12 else
13 disp('NO")

end

end
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>> hads adad 1(500)
Go down
>> hads adad 1(300)
Go up
>> hads adad 1(440)
Go down
>> hads adad 1(430)
Go up
>> hads adad 1(435)
Go down
>> hads adad 1(434)
OK
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function hads adad 1(a)

— adad=434;

— if (a=adad)

— disp('Go down'")
— elself (a<adad)
disp('Go up')

— elself (a==adad)

— disp('CK")

— else

— disp('your 1nputs was 1lncorrect')
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1
1

— end




: switch-case b &

Switch a

Case (1)

] JT AR
Case (2)

¥ Cﬂ;pﬂul

otherwise
ﬁhh,LuJ
End
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Syntax

3wl

end

tch svitch expression

case ﬂaﬂg_expreggiﬂn
statements

case ﬂaﬂg_expreggiﬂn
statements

otherwise
statements
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>> plot switch(1l
>> plot switch (2
>> plot switch (3
>> plot switch(é
enter 1,2, 3

)
)
)
)
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function plot switch( n )
close all
Xx=-p1:0.001:pi;
switch n
case 1
y=sin(x);
case 2
y=C05 (X) ;
case 3
y=sinc(x):
otherwise
disp('enter 1,2,3")
end
plot(x,y, 'k', 'LineWidth', 3):
x1lim([-pl pil)

end
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Command Window J.:Lo.: )JL@ LS"L""’
>> help prj switch

5 ==> masahat

m ==> mohit

for example : prj switch('m',2)
prj switch('s',2)

>> prj switch('m',1)
m =

€.2832
>> prj switch('s',1)

3.141¢6
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1 function prj switch(a,r)
2 5 5 ==> masahat
3 3 m ==> mohit
4 % for example : prj switch('m',2)
5 3 prj switch('s',2)
6 — switch a
1 — case 'm'
8 — m=2*pl*r
Zil= case 's'
10 — s=pl*r~2
11 — otherwise
12 — disp('...error...")
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For variable=a

Ol s

Syntax

for index = values

End

program statements

end
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Command Window

>>» help mazrab

for example: mazrab(g)

>> mazrab(1l1)

1 = .
l =
11
. 66
l =
22 1 =
i = 17
33 i =

44

55
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function mazrab( a )

t for example: mazrab(g)
— for 1=a:99

— k=mod (1, a):

1f k==

— 1

— end
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— end

|'!III end L R
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1 function zarb 1( )

2 Z=zeros(5):

3 for 1=1:5

4 for J=1:5

5 Z(1,])=1%*];

& end

L end >> zarb 1

8 disp(2) 1 3 4 5

9 end 6 8 10
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1 function plottingl( )

= x=0:0.001:2%p1i;

= figure

4 — x1im ([0 2*pi]):

S|= ylim([-1.1 1.1]1):

6 — hold on

T — for 1=1:10

8 — y=(sin(x)) /1i;

9 — plot(x,vy,"'color',rand(1,3));

10 — end
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>> maghsoom adad(24)
1
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8
12
24
>> maghsoom adad(10)
1
2
5
10
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function maghsoom adad(a)
— for 1=1:a
— m=mod(a, 1) :
— 1f (m==0)
— disp(1):
— end
— end

o =] &y o= W M

— end
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Command Window

>> help aval 1
aval 1 (min,max)
for example : aval 1(12,20)
ans =
13 17 19

>> aval 1(10,30)

11 13 17 19 23 29
>> aval 1(980,1000)

983 991 997
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function aval 1(min,max)

$ aval 1(min,max)
t for example : aval 1(12,20)
T ans =

% 13 17 19
add aval=[]:
for a=min:max
b=0;
for 1=1l:a
m=mod (a, 1) ;
1f (m==0)
b=b+1;
end
end
1f (b==2)
add aval (end+1)=a;
end
end
disp(add aval)
end
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While (b ,.)
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Syntax

while expressicon

End

statements

end \
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function prj while( a )

— 1=0;

— while (1<=a)
— disp(i);
— 1=1+2;

— end

— end

220 yioles

Command Window

>> prj while (10)
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>>» fibo (3)
1
1
2
>> fibo (10)
1
1
2
3
5
8
13

34

235
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function fibo( n )
— L=1;
— B=1;
— C=0;
— 1=1;
— while (1<=n)
— disp (A4)
— A=B+C;
C=B;
B=4A;
1=1+1;
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=
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1

end

=
[~2

end

=
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Command Window

>>» hads adad 2
please enter number between [0-1000]

number = 500

Go down
number = 250
Go up

number = 375
Go down
number = 335

Go down
number

Go down

number
Go up
number
Go down
number
Go down
number
Go up
number
QK

275

285

280

278
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1 function hads adad 2()

= disp('please enter number between [0-1000]")
3= disp ('===================================="))
4 — flag=1;

5= adad=randi ([0 1000],1,1):

6 — while (flag)

7 — a=input (' number = ');

8 — if (a>adad)

9 — disp('Go down')

10 — elselif (a<adad)

11 — disp('Go up')

12 — elself (a==adad)

135 disp('OK")

14 — flag=0;

end
end

end
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